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SECTION-A
Answer all questions. Weightage for a bunch of 4 quesﬁons is1.
1. The number of decimal positions in a number is referred to as

2. (723)g=( -

When a fixed number of digits are used to represent exact numbers . k
occur.

i

0.4231 E5+0.5433E5= W.1
The conditional statement P — Q s false when :

The basis of the rule of inference modus ponens is the tautology

A node in a graph G = (V, E) which is not adjacent to any other nodeis called ___
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A path in a digraph in which the edges are all distinctiscalleda W.1

SECTION-B
Answer any 5 questions, each carries weightage 1.

9. What are the different types of errors encountered in performing numerical
calculations ? Explain briefly. s

10. Solve x + 2y = 3 by Gauss Jordan method.
3x-2y=1
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11. Find the location of the negative real root of x3 — 3x + 4 = 0.

12. Evaluate j—l—g dx by Gaussian quadrature formula. -
. -1X

13. Construct the trufh table for (P A Q) v —-Q.

14. Obtain the conjunctive normal form of —(Pv Q) —» (P A CJ) i

15. Define a binary tree. Give an example.

‘»

16. Define compliment of a graph. Find the CQmpIiment of the following graph. (5%1=5)

SECTION-C
Answerany 5 questions, each carries weightage 2.

17. Explain bisection method and useittofinda root of the equatioh x3'f— 5=0.

18. Find g—i and g—% at x = 1 where the function y = f(x) is given by the following . . .
table.
X 0 02 04 06-08 1

y O 012 048 11 2 32

9 : . X d : ‘
19. Evaluate | —:- dx using Simpson’s —% rule taking 10 subintervals,

20. Compute y(O 1) and y(0.2) correct to 4 decnmal places by Taylor serles method
given y' =1+xy, y(O)-1 ‘ ‘ :
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21. Construct the truth table for [(P — Q (Q = R)]— (P —» R) and show that itis |
a tautology. ' : X

22. Prove that in a simple digraph, every node of the dlgraph lies in exactly one
strong component.

23. Obtain the adjacency matrix and path matrix of the following digraph.

24. ShowthatRA(Pv Q) is a valid conclusmn from the premlses : |
PvQ Q—R,P—>M and M. S s (5%2=10)

~ SECTION-D
Answerany 1 question. Weightage 4.

25. Solve the system
10X+ 2y +2=9
X+10y—-z=-22
—-2x+ 3y +102=22 by
a) Jacobi’'s method _
b) Gauss-Seidel iteration method. Which method is more efficient ? Justify.

26. Find the roots of 6x2 —17x + 5 = 0 correct to 2 decnmal places by

. a) Regula—faISI method _ _
- b) Newton Raphson method. _ ez - (1x4=4)




